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9.2 Notes Writing Equations Name:

. Write the slope-intercept form of the equation of each line given the slope & y-intercept.

1. Slope =5, y intercept = -3 2. Slope =_|]_ /3, y intercept =5
‘ﬂ =Sx-3 Y= x+ S
3. Slope =0, y intercept = 2 4. Slope = -1, y intercept = 3

9= L Yr-%+3

Write the slope-intercept form of the equation of each line.
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Write the slope-intercept form of the equation of the line through the given point with the

given slope. U-_-_ M"’E

9. Through: (5, 3), slope = 4/5
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Write the slope intercept form of the equation of the line with the given information.
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11. Through: (-5, -5) and (1. -3) —'f—)” Lu _ﬂ 12. Through: (-5, 1), parallel to y = x +5 \
PP 3s 2 LT3 P il (=50 |, o)t
Slope v 3 x 'y =1
o (1,7 5 =
%% M pnd ™3y Y |‘0__x+__Jb | 45 TS5
~ L
15. y-5=-10(x - 4)
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16. Through: (0, 2) perpendicular 17. Write the equation of the line
toy=1 needed to complete the
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18. Write the equations of the lines needed
to complete the parallelogram.
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